1986 4F A ([ 2]

WHEAT O 1 >0OmBCD %, & & L CAEmICEET D,
TES A%, JCD %l & LClRlis=H2%,

MCDOHEHEM T4 AM=BM=+52 -22 =21

=47 BCD ® Ef&I% %.4-J2_1= 2421

ZAMB=0 0<0<7x) LT 5L, THAALAEROERHT. V21sind Th 5,

PWUEAKRT OIEFEV 1%

v =%-2\/2_1-\/2_15in0=14sin0

SAEF IV . AB? =x% =42(1—cosh) THDHMND

2 2 _ 4 2
cosd = 4242X sinf@=+1-cos? 0 = \/84)(42 X X‘/SZ'Z X

2
Vv :14.—“82;’( :%x\/84—x2 ------ (%)

TOLE, 84-x2>0k10 - 0<x<2421 oo (%)

V=§\/84x2—x4 =§\/—(x2—42)2+422 L0, VORKER, x=Ja20kx

WV DR AMEIL, singd=1. ngo%e:%ybxa%m:éo




